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Computing conditional probability using a two-way frequency table

At a school's open house, T-shirts and sweatshirts were sold.
Each item was purchased by either a student or a parent.

The two-way frequency table summarizes a random sample -@5- sold that night.
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Let student be the event’ “ha: an item ran?toml dgsgn from amang those sold was purchased by a student.
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Let T-shirt be the event that an item randomly chosen from among those sold was a T-shirt.

Find the following probabilities. Write your answers as decimals.
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Computing conditional probability using a two-way frequency table

Dr. Perry is a veterinarian who sees only degs and cats.
In each appointment, he may or may not give the
The two-way frequency table summarizes Dr. Perry’

Vaccine | No vaccine

Bog 27 33 @O

Wik Yo o \ou lry ot
l a vaccine.
Ippointments last week. %v kel

”“W coud Ko low <+ (Poﬂ't\

I Q
Let cat be the event tha?a randomly chl{osen app;éumen: (from the table) involved a cat.
Let vaccine be the event that a randomly chosen appointment (from the table) included a vaccine.

Find the following probabilities. Write your answers as decimals.
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Note: The Solve feature is not avallable to students.
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Computing conditional probability using a two-way frequency table

Dr. Alexander is a veterinarian who sees only dogs and cats.
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In each appointment, he may or may not give the animal a
The two-way frequency table summarizes Dr. Alexang @ tments last week.
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Let vaccine be the event that a randona'ré:nse pointment (from the table) included a vaccine.

Let dog be the event that a randomly chosen appointment (from the table) involved 2 dog.
Find the following probabilities. Write your answers as decimals.
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Note: The Solve feature is not avallable to students.
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Computing conditional probability using a two-way frequency table

At a school's open house, T-shirts and sweatshirts were sold. w\v\;’r [N T8 \WV—’ ot

Each item was purchased by either a student or a parent.

The two-way frequency table summarizes a random sams sold that night. A \\ 3
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Let T-shirt be the event that an item randomly e from among those sold was a T-shirt.
Let student be the event that an item randomly chosen from among those sold was purchased by a student.

Find the following probabilities. Write your answers as decimals.
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